
Quantity Part 
 

2 5/16 – 18 x 3” Threaded Rod OR M8 x 75mm Threaded rod 
 

2 5/16 – 18 Nylon Lock Nut OR M8 Lock Nut 
 

8inchx6.5inch or 20cm x 17.5cm Skateboard grip tape 
 

1kg-2kg PLA or ABS/ASA Filament 
 

 4  Wood screw 
 

8.5inchx11inch or 21.5cm x 28cm  Wood Base  
 

2 (optional) 1.5mm(wire diameter), 60mm(length), 18mm(diameter) Spring 
 

8”(205mm), 6”(155mm), or 
5”(128) 

¼”(6mm) hardboard for pressbed 
 

  Lubricating grease and oil  
 

 Superglue 
 

 


